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| Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10 | | Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10 |
| 3rd Month, 2nd Week, Sth Day |  Review Exercise 6 Q#(6t0 10) | | 3rd Month, 2nd Week, 5th Day |  Review Exercise 6 Q#(6t010) |
% Answer the following questions: - ).,«LZ&:«U’}’J“ BV ¥ Answer the following questions: - ;glﬁéoﬂlf‘f” §IOY)
Q.1. Solve: (1x2=2) g/ Q.1. Solve: (1x2=2) Wyl
(2xy + 3yz + 4zx) - (6xy - 2yz — 5) + (8xy + 2yz - 35) (2xy + 3yz + 4zx) - (6xy - 2yz — 5) + (8xy + 2yz - 35)
Q.2. Write the missing numbers in the sequence below. (1x2=2) Q.2. Write the missing numbers in the sequence below. (1x2=2)
1,4,9,16,25,  ,  , 64,81 also state the rule. 1,4,9,16,25, , 64,81 also state the rule.
ot b et b5
LU0 1,4,9,16,25, 64,81 LS5 1,4,9,16,25, 64,81
Q.3. Simplify: (1x2=2) T Q.3. Simplify: (1x2=2) T
(x+y)- (5x+3x—4) (x+y)- (5x+3x—4)
Q.4.If x=5 and y = 7 then evaluate 6X—[2X+ {2X - 4(E) +y}} (1x4=4) Q.4. If x=5 and y = 7 then evaluate 6X—[2X+ {2X - 4(E) +Y}:I (1x4=4)

6"‘[2’” {2x- 4(E)+Y” Sy =Tix=5.f] 6X—[2X+ f2x- 4(E)+y}} g/ iny =1k =51




